#### ZEROS OF WITTEN ZETA FUNCTIONS AND ABSOLUTE LIMIT

Nobushige Kurokawa and Hiroyuki Ochiai

#### 1. Introduction

The Witten zeta function

$$\zeta_G^W(s) = \sum_{\rho \in \hat{G}} \deg(\rho)^{-s}$$

was introduced by Witten [W] in 1991, where G is a compact topological group and  $\hat{G}$  denotes the unitary dual, that is, the set of equivalence classes of irreducible unitary representations. The example

$$\zeta_{SU(2)}^{W}(s) = \sum_{m=0}^{\infty} \deg(\operatorname{Sym}^{m})^{-s} = \sum_{n=1}^{\infty} n^{-s} = \zeta(s),$$

where  $\zeta(s)$  denotes the Riemann zeta function, suggests fine properties for general case. In fact, Witten showed arithmetical interpretation for  $\zeta_{SU(n)}^W(2m)$   $(m=1,2,3,\ldots)$  containing Euler's result ([E1] 1735)

$$\zeta_{SU(2)}^W(2m) \in \pi^{2m}\mathbf{Q}.$$

In this paper we look at the opposite side: special values at negative integers such as

(1) 
$$\zeta_{SU(2)}^{W}(-1) = \sum_{n=1}^{\infty} n^{n} = -\frac{1}{12},$$

(2) 
$$\zeta_{SU(2)}^{W}(-2) = \sum_{n=1}^{\infty} n^{2} = 0$$

due to Euler [E2] (1749). We notice that the value

" 
$$\sum_{n=1}^{\infty} n$$
" =  $-\frac{1}{12}$ 

Received September 13, 2012; revised February 19, 2013.

appears as the one-dimensional Casimir energy: see Casimir [C] and Hawking [H]. The equality

" 
$$\sum_{n=1}^{\infty} n^2$$
" = 0

means the vanishing of the two-dimensional Casimir energy.

We notice that

$$\zeta_G^W(-2) = |G|$$

when G is a finite group. We conjecture that

$$\zeta_G^W(-2) = 0$$

for infinite groups G.

For deeper understanding of the situation, we introduce a new zeta function (Witten L-function)

(4) 
$$\zeta_G^W(s,g) = \sum_{g \in \hat{G}} \frac{\operatorname{trace}(\rho(g))}{\operatorname{deg}(\rho)} \operatorname{deg}(\rho)^{-s}$$

where G is a compact topological group, g is an element of G,  $\hat{G}$  is the set of equivalence classes of irreducible (C-valued) representations of G,  $\deg(\rho)$  is the degree (the dimension) of an irreducible representation  $\rho \in \hat{G}$ . Note that  $\operatorname{trace}(\rho(g))$  is the character of the representation  $\rho$ . This Witten zeta function  $\zeta_G^W(s,g)$  reduces to the (usual) Witten zeta function when we specialize g to the identity element  $1 \in G$ :

$$\zeta_G^W(s) = \zeta_G^W(s, 1).$$

In the case of a finite group G we have

$$\zeta_G^W(-2,g) = \begin{cases} |G| & \text{if } g = 1, \\ 0 & \text{otherwise.} \end{cases}$$

We conjecture that

$$\zeta_G^W(-2,g) = 0$$

when G is an infinite group. The following result treats the case G = SU(2).

Theorem 1. Suppose  $g \in SU(2)$  is conjugate to  $\begin{pmatrix} e^{i\theta} & 0 \\ 0 & e^{-i\theta} \end{pmatrix}$  with  $0 \le \theta \le \pi$ . (1) We have an expression

$$\zeta_{SU(2)}^{W}(s,g) = \sum_{n=1}^{\infty} \frac{\sin(n\theta)}{n\sin\theta} n^{-s}$$

in  $\operatorname{Re}(s) > 1$ . The function  $\zeta^W_{SU(2)}(s,g)$  in s has a meromorphic continuation to the whole complex plane.

(2) For a positive even integer m, we have  $\zeta_{SU(2)}^W(-m,g)=0$  for all  $g\in SU(2)$ . Moreover, s=-2 is a simple zero of  $\zeta_{SU(2)}^W(s,g)$ , and the first derivative at s=-2 is given as

$$\frac{\partial \zeta^W_{SU(2)}}{\partial s}(-2,g) = \begin{cases} -\frac{\zeta(3)}{4\pi^2} & \text{if } \theta = 0, \\ \\ \frac{1}{4\pi\sin\theta} \left(\zeta\left(2,\frac{\theta}{2\pi}\right) - \frac{\pi^2}{2\sin^2\frac{\theta}{2}}\right) > 0 & \text{if } 0 < \theta < \pi, \\ \\ \frac{7\zeta(3)}{4\pi^2} & \text{if } \theta = \pi. \end{cases}$$

Here  $\zeta(s,x)$  denotes the Hurwitz zeta function.

(3) The special value at s = -1 is given as

$$\zeta_{SU(2)}^{W}(-1,g) = \begin{cases} -\frac{1}{12} & \text{if } \theta = 0, \\ \frac{1}{4\sin^{2}\frac{\theta}{2}} & \text{if } 0 < \theta < \pi, \\ \frac{1}{4} & \text{if } \theta = \pi. \end{cases}$$

We now introduce a 'multi'-version of Witten L-function. For  $g_1, \ldots, g_r \in G$ , we define

$$\zeta_G^W(s; g_1, \dots, g_r) := \sum_{\rho \in \hat{G}} \frac{\operatorname{trace}(\rho(g_1))}{\operatorname{deg}(\rho)} \cdots \frac{\operatorname{trace}(\rho(g_r))}{\operatorname{deg}(\rho)} \times \operatorname{deg}(\rho)^{-s} \\
= \sum_{\rho \in \hat{G}} \frac{\operatorname{trace}(\rho(g_1)) \cdots \operatorname{trace}(\rho(g_r))}{\operatorname{deg}(\rho)^{s+r}}.$$

It is natural to ask whether the vanishing  $\zeta_G^W(-2; g_1, \dots, g_r) \stackrel{?}{=} 0$  of the special value at s=-2 for this generalization holds. We have a partial answer to this question.

THEOREM 2. We have  $\zeta_{SU(2)}^W(-m;g_1,g_2)=0$  for  $g_1,g_2\in SU(2)$ , and a positive even integer m.

We also give an example of the non-vanishing for the case r=3: for some  $g \in SU(2)$ , we prove that  $\zeta_{SU(2)}^W(-2;g,g,g) \neq 0$ . These results related with the Lie group SU(2) are given in Section 2.

We report further examples of zeros of Witten zeta functions for infinite groups.

Theorem 3. 
$$\zeta_{SU(3)}^{W}(s) = 0$$
 for  $s = -1, -2, ...$ 

The proof of this theorem is given in Section 3.

The next example is not a Lie group, but a totally disconnected group.  $\mathbf{Z}_p$  be the p-adic integer ring for a prime number p.

Theorem 4. Suppose 
$$p \neq 2$$
. Then  $\zeta_{SL_2(\mathbf{Z}_p)}^W(s) = 0$  for  $s = -1, -2$ .

Now we consider the congruence subgroups. For a positive integer m, we define a subgroup of  $SL_3(\mathbf{Z}_n)$  of finite index by

$$SL_3(\mathbf{Z}_p)[p^m] = \ker(SL_3(\mathbf{Z}_p) \to SL_3(\mathbf{Z}_p/(p^m))).$$

Theorem 5. Suppose  $p \neq 3$ .

(1)

$$\zeta_{SL_{3}(\mathbf{Z}_{p})[p^{m}]}^{W}(s) = p^{8m} \frac{(1-p^{-2-s})(1-p^{-1-s})}{(1-p^{1-2s})(1-p^{2-3s})} \times (1+(p^{-1}+p^{-2})p^{-s}+(1+p^{-1})p^{-2s}+p^{-2-3s}).$$

(2) 
$$\zeta_{SL_3(\mathbf{Z}_p)[p^m]}^W(s) = 0$$
 for  $s = -1, -2$ .

$$\zeta_{SL_3(\mathbf{Z}_1)[1^m]}^W(s) = \frac{(s+1)(s+2)}{\left(s-\frac{1}{2}\right)\left(s-\frac{2}{3}\right)}.$$

Here we interpret that if  $\zeta^W_{SL_3(\mathbf{Z}_p)[p^m]}(s)$  has an expression as an analytic function on p, and there is a limit  $p \to 1$ , then its limit is denoted by

$$\zeta_{SL_3(\mathbf{Z}_1)[1^m]}^W(s) = \lim_{p \to 1} \zeta_{SL_3(\mathbf{Z}_p)[p^m]}^W(s).$$

These results on totally disconnected groups are given in Section 4.

#### **2.** SU(2)

#### 2.1. Parametrization of irreducible representations of SU(2)

The set of equivalence classes,  $\hat{G}$ , of irreducible unitary representations of G = SU(2) is parametrized by the set of natural numbers. For a natural number n, we denote by  $\rho = \rho_n \in \hat{G}$ , the corresponding irreducible representation of G.

For a 
$$g = \begin{pmatrix} e^{i\theta} & 0 \\ 0 & e^{-i\theta} \end{pmatrix} \in G$$
, we have the character formula

(6) 
$$\operatorname{trace}(\rho(g)) = e^{i(n-1)\theta} + e^{i(n-3)\theta} + \dots + e^{i(3-n)\theta} + e^{i(1-n)\theta}$$

and the degree

(7) 
$$\deg(\rho) = \operatorname{trace}(\rho(I_2)) = n,$$

where  $I_2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \in SU(2)$  is the identity matrix. We also see that  $\operatorname{trace}(\rho(-I_2)) = (-1)^{n-1} n$ .

 $\operatorname{trace}(\rho(-I_2)) = (-1)^{n-1}n.$  We start from  $g = \pm I_2 \in SU(2)$ . In these cases,  $\zeta_{SU(2)}^W(s,g)$  is written in terms of the Riemann zeta function. We see that  $\zeta_{SU(2)}^W(s,I_2) = \zeta(s)$ , and

(8) 
$$\zeta_{SU(2)}^{W}(s, -I_2) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^s} = (1 - 2^{1-s})\zeta(s).$$

## 2.2. Poly-logarithm function

We recall the poly-logarithm

$$Z(s,x) = \sum_{n=1}^{\infty} \frac{x^n}{n^s},$$

which is written also as  $\text{Li}_s(x)$  in literature. This series converges if |x| < 1 and  $s \in \mathbb{C}$ , or |x| = 1 and Re(s) > 1. In the following, we restrict to the case |x| = 1.

Theorem 6. Suppose |x|=1 and  $x \neq 1$ . Then Z(s,x) is analytically continued to a holomorphic function on  $s \in \mathbb{C}$ . Moreover, for every non-negative integer m, the function Z(-m,x) can be expressed by a rational function in x. The first several examples are

$$Z(0,x) = \frac{x}{1-x}, \quad Z(-1,x) = \frac{x}{(1-x)^2}, \quad Z(-2,x) = \frac{x(1+x)}{(1-x)^3}, \dots$$

*Proof.* For Re(s) > 1, we have

$$Z(s,x) = x + \frac{x^2}{2^s} + \sum_{n=3}^{\infty} \frac{x^n}{n^s}$$

$$= x + \frac{x^2}{2^s} + \sum_{n=2}^{\infty} \frac{x^{n+1}}{(n+1)^s}$$

$$= x + \frac{x^2}{2^s} + \sum_{n=2}^{\infty} x^{n+1} n^{-s} (1 + n^{-1})^{-s}$$

$$= x + \frac{x^2}{2^s} + \sum_{n=2}^{\infty} x^{n+1} n^{-s} \sum_{k=0}^{\infty} {s \choose k} n^{-k}$$

$$= x + \frac{x^2}{2^s} + x \sum_{k=0}^{\infty} {s \choose k} (Z(s+k,x) - x)$$

$$= x + \frac{x^2}{2^s} + x (Z(s,x) - x) + x \sum_{k=1}^{\infty} {s \choose k} (Z(s+k,x) - x).$$

This shows

(9) 
$$(1-x)Z(s,x) = x + x^2(2^{-s} - 1) + x \sum_{k=1}^{\infty} {\binom{-s}{k}} (Z(s+k,x) - x).$$

By the estimates of binomial coefficients, the right-hand side converges absolutely on the right-half plane Re(s) > 0. This shows the analytic continuation of Z(s,x) to Re(s) > 0. Repeating this argument, we obtain the analytic continuation to whole  $s \in \mathbb{C}$ . To substitute s = -m with  $m = 0, 1, \ldots$ , we have the recursion equation

(10) 
$$(1-x)Z(-m,x) = x + x^2(2^m - 1) + x\sum_{k=1}^m \binom{m}{k} (Z(-(m-k),x) - x).$$

First several examples show

$$Z(-3,x) = \frac{x(1+4x+x^2)}{(1-x)^4}, \quad Z(-4,x) = \frac{x(1+x)(1+10x+x^2)}{(1-x)^5},$$
$$Z(-5,x) = \frac{x(1+26x+66x^2+26x^3+x^4)}{(1-x)^6}.$$

These examples seem to show

Lemma 7. Suppose |x| = 1 with  $x \neq 1$ . Then

(11) 
$$Z(0,x) + Z(0,x^{-1}) = -1,$$

and for every positive integer m,

(12) 
$$Z(-m,x) + (-1)^m Z(-m,x^{-1}) = 0.$$

*Proof.* We start from [Jonquière 1880]

(13) 
$$e^{-\pi i s/2} Z(s, e^{i\theta}) + e^{\pi i s/2} Z(s, e^{-i\theta}) = \frac{(2\pi)^s}{\Gamma(s)} \zeta\left(1 - s, \frac{\theta}{2\pi}\right)$$

in Milnor [M]. Putting s = -m with m = 1, 2, ..., we have

$$e^{\pi i m/2} Z(-m, e^{i\theta}) + e^{-\pi i m/2} Z(-m, e^{-i\theta}) = 0.$$

We remark that  $Z(0,1) = \zeta(0) = -1/2$ . In this sense, the formula (11) is valid also for x = 1.

#### 2.3. An example

(14) 
$$Z(-1, e^{i\theta}) = \frac{1}{(e^{-i\theta/2} - e^{i\theta/2})^2} = -\frac{1}{4\sin^2(\theta/2)}.$$

and this shows

(15) 
$$\operatorname{Li}_{-1}(e^{-i\theta}) = \operatorname{Li}_{-1}(e^{i\theta}),$$

an even function in  $\theta$ .

## 2.4. Proof of Theorem 1(1) and analytic continuation

Now we consider regular elements in SU(2). Suppose  $0 < \theta < \pi$ . Then we have, for Re(s) > 1,

$$\begin{split} \zeta_{SU(2)}^W \bigg( s, \begin{pmatrix} e^{i\theta} & 0 \\ 0 & e^{-i\theta} \end{pmatrix} \bigg) &= \sum_{n=1}^\infty \frac{e^{in\theta} - e^{-in\theta}}{e^{i\theta} - e^{-i\theta}} \frac{1}{n} n^{-s} \\ &= \frac{1}{e^{i\theta} - e^{-i\theta}} \sum_{n=1}^\infty \left( \frac{e^{in\theta}}{n^{s+1}} - \frac{e^{-in\theta}}{n^{s+1}} \right) \\ &= \frac{1}{e^{i\theta} - e^{-i\theta}} \{ Z(s+1, e^{i\theta}) - Z(s+1, e^{-i\theta}) \} \\ &= \frac{1}{2i \sin \theta} \{ Z(s+1, e^{i\theta}) - Z(s+1, e^{-i\theta}) \}, \end{split}$$

and the right-hand side has meromorphic continuation to whole  $s \in \mathbb{C}$ . Note that we interpret

(16) 
$$\frac{\sin(n\theta)}{n\sin\theta} = \begin{cases} 1 & \text{if } \theta = 0, \\ (-1)^{n-1} & \text{if } \theta = \pi. \end{cases}$$

## 2.5. Proof of Theorem 1(2); vanishing

For  $g = \pm I_2$  and for positive even integer m, we obtain  $\zeta_{SU(2)}^W(-m, \pm I_2) = 0$  from  $\zeta(-m) = 0$ .

For  $g \neq \pm I_2$ , suppose  $0 < \theta < \pi$ . Then for a positive integer m, we have

(17) 
$$\zeta_{SU(2)}^{W}(-m,g) = \frac{1}{2i \sin \theta} (Z(1-m,e^{i\theta}) - Z(1-m,e^{-i\theta})).$$

This is zero for even m by the formula (12).

# 2.6. Proof of Theorem 1(2), first derivative

We see that

(18) 
$$\frac{1}{\Gamma(s)} = \frac{s(s+1)}{\Gamma(s+2)}$$

shows that

(19) 
$$\frac{1}{\Gamma(s)} = -(s+1) + O((s+1)^2), \quad (s \to -1).$$

We again start from the formula (13)

$$e^{-\pi i s/2}Z(s,x) + e^{\pi i s/2}Z(s,x^{-1}) = \frac{(2\pi)^s}{\Gamma(s)}\zeta\left(1-s,\frac{\theta}{2\pi}\right)$$

with  $x = e^{i\theta}$ . Taking  $\frac{\partial}{\partial s}\Big|_{s=-1}$  in this formula, we have

$$\begin{split} i\frac{\partial Z}{\partial s}(-1,x) + (-i)\frac{\partial Z}{\partial s}(-1,x^{-1}) + (-\pi i/2)(i)Z(-1,x) + (\pi i/2)(-i)Z(-1,x^{-1}) \\ &= (2\pi)^{-1}(-1)\zeta\left(2,\frac{\theta}{2\pi}\right). \end{split}$$

Then

(20) 
$$i \times 2i \sin \theta \times \frac{\partial \zeta_{SU(2)}^{W}}{\partial s}(-2, g) = -\pi Z(-1, e^{i\theta}) - \frac{1}{2\pi} \zeta\left(2, \frac{\theta}{2\pi}\right),$$

and

(21) 
$$4\pi \sin \theta \times \frac{\partial \zeta_{SU(2)}^W}{\partial s}(-2,g) = 2\pi^2 Z(-1,e^{i\theta}) + \zeta\left(2,\frac{\theta}{2\pi}\right).$$

We have

(22) 
$$\zeta(2,t) + \zeta(2,1-t) = \frac{\pi^2}{\sin^2(\pi t)}$$

since the left-hand side is equal to

(23) 
$$\sum_{n=0}^{\infty} \frac{1}{(n+t)^2} + \sum_{n=0}^{\infty} \frac{1}{(n+1-t)^2} = \sum_{n=-\infty}^{\infty} \frac{1}{(n+t)^2}$$

which is equal to the right-hand side. This shows

(24) 
$$8\pi \sin \theta \times \frac{\partial \zeta_{SU(2)}^{W}}{\partial s}(-2, g) = \zeta\left(2, \frac{\theta}{2\pi}\right) - \zeta\left(2, 1 - \frac{\theta}{2\pi}\right) > 0$$
 since  $\frac{\theta}{2\pi} < 1 - \frac{\theta}{2\pi}$ .

## 2.7. Proof of Theorem 1(3)

(25) 
$$\zeta_{SU(2)}^{W}(-1, I_2) = \zeta(-1) = -\frac{1}{12}$$

and

(26) 
$$\zeta_{SU(2)}^{W} \left( -1, \begin{pmatrix} e^{i\theta} & 0 \\ 0 & e^{-i\theta} \end{pmatrix} \right) = \frac{Z(0, x) - Z(0, x^{-1})}{x - x^{-1}}$$
$$= \frac{-x}{(1 - x)^{2}} = \frac{1}{4 \sin^{2}(\theta/2)},$$

where  $x = e^{i\theta}$  for all  $0 < \theta \le \pi$ .

## 2.8. An average over the group

Let G be a finite group. The normalized Haar measure dg on G is, by definition,

(27) 
$$\int_{G} f(g) dg = \frac{1}{|G|} \sum_{g \in G} f(g).$$

Then we see that, for all  $s \in \mathbb{C}$ ,

(28) 
$$\int_{G} \zeta_{G}^{W}(s,g) dg = 1,$$

since the left-hand side is equal to

(29) 
$$\sum_{g \in \hat{G}} \left( \int_{G} \operatorname{trace}(\rho(g)) \ dg \right) \operatorname{deg}(\rho)^{-s-1},$$

where the average is non-zero only for the trivial representation  $\rho$ .

Now we consider the case where G is a compact group which is not necessarily a finite group. Again let dg be the normalized Haar measure of G so that  $\int_G dg = 1$ . We ask the value

(30) 
$$\int_{G} \zeta_{G}^{W}(s,g) dg.$$

We can give some example;

(31) 
$$\int_{SU(2)} \zeta_{SU(2)}^W(-2, g) \ dg = 0,$$

(32) 
$$\int_{SU(2)} \zeta_{SU(2)}^W(-1, g) \ dg = 1.$$

The latter formula is proved by the Weyl integral formula;

$$(33) \quad \int_{SU(2)} \zeta^W_{SU(2)}(-1,g) \ dg = \int_0^\pi \zeta^W_{SU(2)} \biggl( -1, \left( \begin{matrix} e^{i\theta} & 0 \\ 0 & e^{-i\theta} \end{matrix} \right) \biggr) \frac{2}{\pi} \, \sin^2 \theta \ d\theta = 1.$$

## **2.9.** r = 2

We now discuss the properties of a generalization of Witten zeta functions with several characters. We give a proof of Theorem 2.

Proof.

trace
$$(\rho(g_1)) = \frac{x^n - x^{-n}}{x - x^{-1}}, \text{ trace}(\rho(g_2)) = \frac{y^n - y^{-n}}{y - y^{-1}}$$

with  $x = e^{i\theta_1}$ ,  $y = e^{i\theta_2}$ . In the cases  $g_2 = \pm I_2$ , we have

(34) 
$$\zeta_{SU(2)}^{W}(s, g_1, I_2) = \zeta_{SU(2)}^{W}(s, g_1),$$

(35) 
$$\zeta_{SU(2)}^{W}(s, g_1, -I_2) = \zeta_{SU(2)}^{W}(s, -g_1).$$

Then the problem on the special values is reduced to the case treated in Theorem 1(2).

Now we may suppose  $x, y \neq \pm 1$ . Then

(36) 
$$\zeta_{SU(2)}^{W}(s, g_1, g_2)$$

$$= \frac{1}{(x - x^{-1})(y - y^{-1})} \sum_{n=1}^{\infty} \frac{(xy)^n + (x^{-1}y^{-1})^n - (xy^{-1})^n - (x^{-1}y)^n}{n^{s+2}}$$

$$= \frac{Z(s + 2, xy) + Z(s + 2, x^{-1}y^{-1}) - Z(s + 2, xy^{-1}) - Z(s + 2, x^{-1}y)}{(x - x^{-1})(y - y^{-1})}$$

This shows

(37) 
$$\zeta_{SU(2)}^{W}(-2, g_1, g_2) = \frac{(Z(0, xy) + Z(0, x^{-1}y^{-1})) - (Z(0, xy^{-1}) + Z(0, x^{-1}y))}{(x - x^{-1})(y - y^{-1})} = 0,$$

where we have used the formula (11).

**2.10.** r = 3

By the similar computation, we obtain

(38) 
$$\zeta_{SU(2)}^{W}(s;g,g,g)$$

$$= \frac{Z(s+3,x^3) - 3Z(s+3,x) + 3Z(s+3,x^{-1}) - Z(s+3,x^{-3})}{(x-x^{-1})^3}.$$

If x = i, then

$$\zeta_{SU(2)}^{W}(-2; g, g, g) = \frac{4Z(1, -i) - 4Z(1, i)}{(2i)^3} = \frac{-2\pi i}{-8i} = \frac{\pi}{4} \neq 0.$$

## 3. SU(3)

#### 3.1. On analytic continuation

Let G be a compact semisimple Lie group. Then the Witten zeta  $\zeta_G^W(s)$  has a meromorphic continuation to C. This is a special case of

(39) 
$$\sum_{m_1,\ldots,m_r\geq 1} Q(m_1,\ldots,m_r) P(m_1,\ldots,m_r)^{-s}.$$

Analytic continuation of these zeta functions is discussed in [Mellin 1900], [Mahler 1928].

# 3.2. A special value at a negative integer

Let *n* be a positive integer. Let M = 2n + 2, and suppose  $Re(s) > -n - \frac{1}{2} + \frac{\varepsilon}{2}$ , with  $\varepsilon > 0$ . By [Ma], we have

$$(40) \qquad \zeta_{SU(3)}^{W}(s) = 2^{s} \sum_{m,n \ge 1} \frac{1}{m^{s} n^{s} (m+n)^{s}}$$

$$= 2^{s} \frac{\Gamma(2s-1)\Gamma(1-s)}{\Gamma(s)} \zeta(3s-1)$$

$$+ 2^{s} \sum_{k=0}^{M-1} (-1)^{k} \frac{s(s+1)\cdots(s+k-1)}{k!} \zeta(2s+k) \zeta(s-k)$$

$$+ 2^{s} \frac{1}{2\pi \sqrt{-1}} \int_{\mathbb{R}^{c}(z)=2n+2-\varepsilon} \frac{\Gamma(s+z)\Gamma(-z)}{\Gamma(s)} \zeta(2s+z) \zeta(s-z) dz.$$

Reminding

(41) 
$$\frac{\Gamma(2s-1)}{\Gamma(s)} \bigg|_{s=-n} = (-1)^{n-1} \frac{n!}{2(2n+1)!},$$

we can put s = -n in this identity and obtain

(42) 
$$\zeta_{SU(3)}^{W}(-n) = 2^{-n}(-1)^{n-1} \frac{n!n!}{2(2n+1)!} \zeta(-3n-1)$$

$$+ 2^{-n} \sum_{k=0}^{2n} (-1)^k \frac{(-n)(1-n)\cdots(k-1-n)}{k!} \zeta(-2n+k) \zeta(-n-k)$$

$$+ 2^{-n}(-1) \frac{(-n)(1-n)\cdots(-1)\cdot 1\cdots n}{(2n+1)!} \frac{1}{2} \zeta(-3n-1).$$

This shows  $\zeta_{SU(3)}^W(-n)=0$  for a positive odd integer n, since  $\zeta(-3n-1)=0$  and  $\zeta(-2n+k)\zeta(-n-k)=0$  for  $k=0,1,\ldots,n$ . On the other hand, for a positive even integer n, we have

(43) 
$$\zeta_{SU(3)}^{W}(-n) = -2^{-n} \frac{(n!)^2}{(2n+1)!} \zeta(-3n-1) + 2^{-n} \sum_{k=0}^{n} \binom{n}{k} \zeta(-2n+k) \zeta(-n-k) = 0,$$

where the last equality follows from the following lemma:

LEMMA 8. For a positive even integer n, we have

(44) 
$$\sum_{k+l=n,k,l>0} \frac{1}{k!l!} \zeta(-n-k) \zeta(-n-l) = \frac{n!}{(2n+1)!} \zeta(-3n-1).$$

Equivalently,

(45) 
$$\sum_{k+l=n} \frac{1}{k! l!} \frac{B_{n+1+k}}{n+1+k} \frac{B_{n+1+l}}{n+1+l} = -\frac{n!}{(2n+1)!} \frac{B_{3n+2}}{3n+2}$$

This follows from [CW, Theorem 2] when we substitute  $\alpha = \gamma = n - 1$  and  $\delta = \varepsilon = 1$ .

This concludes the proof of Theorem 3.

# 4. The groups over $\mathbb{Z}_p$

#### **4.1.** $SL_2$

Let p be an odd prime. We denote by  $\mathbb{Z}_p$  the ring of integers in the non-archimedean local field  $\mathbb{Q}_p$ . Jaikin-Zapirain [J] obtains the following explicit formula:

$$\zeta_{SI_2(\mathbf{Z}_n)}^W(s) = Z_0(s) + Z_\infty(s),$$

with

(47) 
$$Z_{0}(s) = \zeta_{SL_{2}(\mathbf{F}_{p})}^{W}(s)$$

$$= 1 + 2\left(\frac{p-1}{2}\right)^{-s} + 2\left(\frac{p+1}{2}\right)^{-s} + \frac{p-1}{2}(p-1)^{-s}$$

$$+ p^{-s} + \frac{p-3}{2}(p+1)^{-s},$$

$$(48) \qquad Z_{\infty}(s) = \frac{1}{1-p^{-s+1}} \left(4p\left(\frac{p^{2}-1}{2}\right)^{-s} + \frac{p^{2}-1}{2}(p^{2}-p)^{-s}\right)$$

$$+ \frac{(p-1)^{2}}{2}(p^{2}+p)^{-s}.$$

This deduces

(49) 
$$Z_0(-2) = p(p^2 - 1) = |SL_2(\mathbf{F}_p)| = p(p+1)(p-1),$$

(50) 
$$Z_{\infty}(-2) = -p(p^2 - 1),$$

(51) 
$$Z_0(-1) = p(p+1),$$

(52) 
$$Z_{\infty}(-1) = -p(p+1),$$

$$(53) Z_0(0) = p + 4,$$

(54) 
$$Z_{\infty}(0) = -\frac{4}{p-1} - p - 4.$$

This shows

$$\zeta_{SL_2(\mathbf{Z}_n)}^W(-2) = 0,$$

$$\zeta_{SL_2(\mathbf{Z}_p)}^W(-1) = 0,$$

(57) 
$$\zeta_{SL_2(\mathbf{Z}_p)}^W(0) = -\frac{4}{p-1},$$

which concludes the proof of Theorem 4.

## **4.2.** Congruence subgroups of $SL_2$

In this subsection, we assume that p is an odd prime. By [AKOV], we obtain

(58) 
$$\zeta_{SL_2(\mathbf{Z}_p)[p^m]}^W(s) = p^{3m+2} \frac{1 - p^{-2-s}}{1 - p^{1-s}}.$$

This shows

(59) 
$$\zeta_{SL_2(\mathbf{Z}_n)[p^m]}^W(-2) = 0,$$

(60) 
$$\zeta_{SL_2(\mathbf{Z}_p)[p^m]}^W(-1) = -p^{3m+1}/(p+1).$$

By taking an "absolute limit"  $p \rightarrow 1$ , we obtain

(61) 
$$\zeta_{SL_2(\mathbf{Z}_1)[1^m]}^W(s) = \frac{s+2}{s-1}.$$

## 4.3. Congruence subgroups of $SL_3$ and $SU_3$

In this subsection, we assume that p is a prime with  $p \neq 3$ . By [AKOV], we have

(62) 
$$\zeta_{SL_3(\mathbf{Z}_p)[p^m]}^W(s) = p^{8m} \frac{1 + u(p)p^{-3-2s} + u(p^{-1})p^{-2-3s} + p^{-5-5s}}{(1 - p^{1-2s})(1 - p^{2-3s})},$$

where  $u(X) = X^3 + X^2 - X - 1 - X^{-1}$ . We notice that it can be factorized as

(63) 
$$\zeta_{SL_{3}(\mathbf{Z}_{p})[p^{m}]}^{W}(s) = p^{8m} \frac{(1 - p^{-2-s})(1 - p^{-1-s})}{(1 - p^{1-2s})(1 - p^{2-3s})} \times (1 + (p^{-1} + p^{-2})p^{-s} + (1 + p^{-1})p^{-2s} + p^{-2-3s}).$$

We see that

$$\zeta^W_{SL_3(\mathbf{Z}_n)[p^m]}(-2) = \zeta^W_{SL_3(\mathbf{Z}_n)[p^m]}(-1) = 0.$$

The formula (64) shows

(64) 
$$\lim_{p \to 1} \zeta_{SL_3(\mathbf{Z}_p)[p^m]}^W(s) = \frac{(s+1)(s+2)}{\left(s - \frac{1}{2}\right)\left(s - \frac{2}{3}\right)},$$

which is considered to be "an absolute Witten zeta function  $\zeta_{SL_3(\mathbf{Z}_1)[1^m]}^W(s)$ ". Also by [AKOV],

(65) 
$$\zeta_{SU_{3}(\mathbf{Z}_{p})[p^{m}]}^{W}(s) = p^{8m} \frac{1 + u(p)p^{-3-2s} + u(p^{-1})p^{-2-3s} + p^{-5-5s}}{(1 - p^{1-2s})(1 - p^{2-3s})}$$

$$= p^{8m} \frac{(1 - p^{-2-s})(1 - p^{-s})(1 + p^{-1-s})}{(1 - p^{1-2s})(1 - p^{2-3s})}$$
(66) 
$$\times (1 + (1 - p^{-1} + p^{-2})p^{-s} + p^{-2-2s}),$$
where  $u(X) = -X^{3} + X^{2} - X + 1 - X^{-1}$ . This shows
$$\zeta_{SU_{3}(\mathbf{Z}_{p})[p^{m}]}^{W}(-2) = \zeta_{SU_{3}(\mathbf{Z}_{p})[p^{m}]}^{W}(0) = 0,$$

while

(67) 
$$\zeta_{SU_3(\mathbf{Z}_p)[p^m]}^W(-1) = 2p^{8m-2}\frac{p-1}{p^5-1} = 2p^{8m-2}\frac{1}{[5]_p}$$

is non-zero where  $[n]_p = \frac{p^n - 1}{p - 1}$  is a *p*-analogue of an integer *n*. This shows

(68) 
$$\lim_{p \to 1} \zeta_{SU_3(\mathbf{Z}_p)[p^m]}^W(-1) = \frac{2}{5}.$$

By the formula (67), we have

$$\lim_{p \to 1} \zeta_{SU_3(\mathbf{Z}_p)[p^m]}^W(s) = \frac{s(s+2)}{\left(s - \frac{1}{2}\right)\left(s - \frac{2}{3}\right)}.$$

#### REFERENCES

[AKOV] NIR AVNI, BENJAMIN KLOPSCH, URI ONN AND CHRISTOPHER VOLL, On representation zeta functions of groups and a conjecture of Larsen-Lubotzky, C. R. Acad. Sci. Paris, Ser. I. 348 (2010), 363–367.

- [AKOV2] NIR AVNI, BENJAMIN KLOPSCH, URI ONN AND CHRISTOPHER VOLL, Representation zeta functions of some compact p-adic analytic groups, arXiv:1011.6533.
- [C] H. B. G. CASIMIR, On the attraction between two perfectly conducting plates, Proc. Kon. Ned. Acad. Wetenschap **51** (1948), 793–795.
- [CW] W. CHU AND C. WANG, Convolution formulae for Bernoulli numbers, Integral Transforms and Special Functions 21 (2010), 437-457.
- [E1] L. EULER, De summis serierum reciprocarum, Commentarii academiae scientiarum Petropolitanae 7 (1740), 123-134, Opera Omnia, Ser. 1. 14, 73-86.
- [E2] L. EULER, Remarques sur un beau rapport entre les séries des puissances tant directes que réciproques, Memoires de l'academie des sciences de Berlin 17 (1768), 83-106, Opera Omnia, Ser. 1. 15, 70-90.
- [H] S. W. HAWKING, Zeta function regularization of path integrals in curved space time, Comm. Math. Phys. 55 (1977), 133-148.
- [J] A. JAIKIN-ZAPIRAIN, Zeta function of representations of compact p-adic analytic groups, J. Amer. Math. Soc. 19 (2006), 91–118. [Jo] A. Jonquière, Note sur la séries  $\sum_{n=1}^{\infty} \frac{X^n}{n^s}$ , Bull. Soc. Math. France 17 (1889), 142–152.
- [L] M. LARSEN, Determining a semisimple group from its representation degrees, Internat. Math. Res. Notes 2004 (2004), 1989-2016.
- [LL] M. LARSEN AND A. LUBOTZKY, Representation growth of linear groups, J. Eur. Math. Soc. (JEMS) 10 (2008), 351-390.
- [Mah] K. Mahler, Über einen Satz von Mellin, Math. Ann. 100 (1928), 384-398.
- [Ma] K. Matsumoto, On analytic continuation of various multiple zeta-functions, Number theory for the millennium II, Proc. of the Millennial Conference on Number Theory (M. A. Bennett et al., eds.), A K Peters, 2002, 417-440.
- [Me] H. Mellin, Eine Formel für den Logarithmus transcendenter Funktionen von endlichem Geschlecht, Acta Soc. Sci. Fenn. 29-4 (1900).
- [M] J. MILNOR, On polylogarithms, Hurwitz zeta functions, and the Kubert identities, Enseign. Math. (2) 29 (1983), 281-322.
- [W] E. WITTEN, On quantum gauge theories in two dimensions, Comm. Math. Phys. 141 (1991), 153-209.
- [Z] D. ZAGIER, Values of zeta functions and their applications, First European Congress of Mathematics, Vol. II, Paris, 1992, Progr. Math. 120, Birkhäuser, Basel, 1994, 497-512.

Nobushige Kurokawa DEPARTMENT OF MATHEMATICS TOKYO INSTITUTE OF TECHNOLOGY OH-OKAYAMA, MEGURO Токуо, 152-8551 Japan

E-mail: kurokawa@math.titech.ac.jp

Hiroyuki Ochiai FACULTY OF MATHEMATICS KYUSHU UNIVERSITY Мотоока, Гикиока, 819-0395

JAPAN

E-mail: ochiai@imi.kyushu-u.ac.jp